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PAPER ONE

Part | Listening Comprehension (30%) (30 minutes)

Section A

Directions: In this part you will hear 15 short conversations between two speakers. At the
end of each conversation, you will hear a question about what is said. The
question will be read only once. After you hear the question, you will have 12
seconds to read the four possible answers marked A, B, C, and D. Choose

the best answer and mark the corresponding letter on the ANSWER SHEET .

Listen to the following example .

You will hear:

Woman: [ feel faint.
Man: No wonder. You haven’t had a bite all day.
Question; Whats the matter with the woman?

You will read :

A. She is sick.

B. She was bitten by an ant.
C. She is hungry.

D. She spilled her paint.

Here C is the right answer.

Sample Answer

A B [C] D



Now let's begin with question number 1.

1. A. The friend may be busy choosing a flat to live in.

B. The friend may be busy with the princess's daily life.

C. The friend may be preparing for the wedding.

D. The friend may be choosing what to wear for the princess.
2. They are criticizing college men for drinking too much.

They are drinking more than college men.

. They are campaigning against mern's binge drinking.

. They remain sober with the title of campus drunk.

Seatbelts are important for aeroplane passengers, as well as for car riders.

The man agrees with the saying “seatbelts are for wimps”.

Many people would not think of going anywhere without wearing a seatbelt.

. Were it not for the seatbelt, the woman might have been injured in an accident.
- He says the matter is the owner's responsibility, not his.

. He is not on talking terms with the owners son who lives there.

. He is afraid of what the owner's son might say or do.

. He is afraid that the owner's son might take his refrigerator away.

. The openness has the advantage of allowing doctors to explore what happened.
The reform serves as a good broom to sweep the malpractices away from hospitals.
. Malpractices sometimes block our vision, so we can't tell right from wrong.

. The new approach can help hospitals enhance their credibility and reputation.

. It is difficult getting an appointment with her.

. She is good doctor.

. She used to be his doctor.

. She is fairly old.

Ron has been exaggerating the size of it.

. She actually wrote 12 pages.

. She wrote a big essay because of the big space of the paper.

- She's been adding words to her essay.

. There’s no way to get rid of noise in our life.

People hear better when they are in a library.

Noise isn't the only one to be blamed.

. Library could be a better place for your ears.

Women always care more about their husband than about themselves.

Not many women consider heart disease their great health risk.

Women worry about their blood vessels' getting diseased.

We need to educate women on how to improve their own health.

—
©

Aged people who exercise get more arthritis pains.
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11.

12.

13.

14.

15.

COEPUOEPUORPOORP>TOR>T O

Aged people should retire to the couch.

Despite injuries, exercise should be recommended to aged people.
Injuries are unavoidable for aged people.

It's good to improve muscle tone.

It helps strengthen the heart.

It helps developmental toughness.

It benefits the health in the long run.

When he chews on hard foods.

When he eats hot foods.

When he drinks something cold.

When he chews cold foods.

.He feels medical treatment is still unproven for his condition.
He's worried about the side effects of the medication.
The medication would tighten his monthly budget.
He's found a better way out.

She thinks it helps a lot.

She likes it very much.

She is allergic to it.

She doesn't think it is effective.

Playing cards with the sister.

Watching DVDs together with her.

Counseling the doctor.

Doing something active outdoors.

Section B

Directions: In this part you will hear three passages. After each one, you will hear five

questions. After each question, you will have about 12 seconds to choose the
correct answer from the four choices given. Mark the letter of your choice on
the ANSWER SHEET .

Passage One

Questions 16 through 20 are based on the passage you've just heard.

16.

17.

A.
B.

. The country’s development.

o O

Some emergent national affairs.

The up-lifting of children's well-being.

. The improvement of girls’ enrolment.

The high death rate.

. The low girls' school enrolment.



18.

19.

20.

CO®>UDO®>00®>00

Children's malnutrition.

Hl-treatment to children.

About 20 percent.

About 1.6 percent.

About 10 percent.

About 1.5 percent.

With routine health care, most of the deaths could have been prevented.

With a better sanitary condition, the children could have lived longer.

. There should be a better sanitary surrounding when a mother delivers a baby.
. Afghan people should learn more about health care.

. Some of them die of delivery complications.

Lack of education has prevented them from contributing to the country.

. Girls' school enrolment is the lowest in the world.

. Sometimes they could not decide their own fate because of illiteracy.

Passage Two

Questions 21 through 25 are based on the passage you've just heard.

21.

22.

23.

24.

25.

vcow>
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Less animals will be used in medical research.

[t is possible to grow cells to take the place of damaged parts of the brain.

New brains may be created for transplantation.

New approaches to nervous diseases like Parkinson’s may be discovered in the near
future.

Rat's.

Mouse's.

Rabbits.

Monkey’s.

. Researchers got an unclean mixture of stem cells.

The stem cells were grown out of donated materials.

They were all very successful because of the high-quality products.

Embryonic stem cells were the by-products of the experiments.

Newcastle University researchers.

South Korean scientists.

Edinburgh University researchers.

Harvard Medical School researchers.

Whether the created stem cells can do good in human's body.

How the stem cells transform into other types of cells.

Two kinds of proteins are essential for the development of the embryonic brain.

Why the embryonic stem cells are always contaminated in researches.



Passage Three

Questions 26 through 30 are based on the passage you've just heard.
26. Canada Post will hold a series of activities to celebrate it.
Canada will be awarded a prize by the United Nations.

o= >

Canada Post will issue a memorial stamp.
Canada will set up a monument for Dr. Jonas Salk, who developed the vaccine.
27. How they could create a clean culture for the poliovirus.

How they could produce the vaccine in large quantities.

O ® >0

How they could assure people of the vaccine's efficacy.

—
o/

How they could get the government's approval to put the vaccine into production.
28.

>

It helped Dr. Salk identify the different types of polio.
B. It helped find proper subjects to test the vaccine on.
C. It made some propaganda to enable the nationwide acceptance of the vaccine.
D. It found a way to solve the problems faced by Dr. Salk.

29. A. Some children developed the disease after the vaccination.
B. Canada hadn't provided enough guarantee of the effectiveness of the vaccine.
C. It feared the side-effect that might be caused by the vaccination.
D. American people opposed the Canadian vaccine.

30. A. It has set a good example of vaccine research in this field.

A

B. It has helped eliminate polio in most parts of the world.
C. It has helped build mass confidence in medical research.
D

- It has donated some money to the project.

Part ]| Vocabulary (10%) (10 minutes)

Section A
Directions: In this section all the sentences are incomplete. Four words or phrases,
marked A, B, C, and D are given beneath each of them. You are to choose

the word or phrase that best completes the sentence. Then, mark your answer
on the ANSWER SHEET .

31. Thomas Jefferson once said, * the people generally, and tyranny and oppres-

sion of body and mind will vanish like evil spirits at the dawn of day.”

A. enlighten B. illuminate
C. acquaint D. inform
32. This "No  Added” fruity dry white wine exhibits a delicious combination of

stewed apples and pears.

A. Preservation B. Preservative



33.

34.

35.

36.

37.

38.

39.

40.

C. Conservative D. Conservation
| cannot rule out a where the US has to pay more to attract private financing

from abroad even as the US economy slows.

A. scene B. scenario

C. scenery D. sight

The public prosecutor has never been deceived by any testimony conducted
by the rival.

A. bounteous B. discourteous

C. fallacious D. fragile

President George Bush suffered a significant over his choice of John Bolton,

an outspoken hawk, as America’'s envoy to the UN.

A. rebuff B. rebuke

C. refuse D. recourse

Its  to take a thick coat in cold weather when you go out.

A. pungent B. provincial

C. prudent D. prominent

She  the lights to get just the effect she wanted.

A. manipulated B. operated

C. maneuvered D. managed

Caregiving takes a(n) on the body in very tangible ways: lifting a frail sen-

ior out of bed can injure the shoulders and back.

A. stock B. toll

C. account D. shape

Those days everyone in the town was talking about the murderer and his
gang.

A. nostalgic B. novel

C. notorious D. notable

For 15 years health officials were remarkably successful in tryingto _ polio:

by 2003, the virus was confined to six countries and was seemingly headed for extinc-
tion by 2005.

A. abolish B. extinguish
C. exterminate D. eradicate
Section B

Directions: Each of the following sentences has a word or phrase underlined. There are

four words or phrases beneath each sentence. Choose the one word or phrase
which can best keep the meaning of the original sentence if it is substituted for
the underlined part. Mark you answer on the ANSWER SHEET .



41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

The incongruous design is a compromise between high tech and early American.

A. accommodation B. settlement

C. concession D. agreement

We smiled because we experienced the exhilaration that followed the completion of a
law school exam.

A. exhalation B. exaltation

C. rapture D. excitement

Her essay was intended to mock and satirize the fascination of modern journalism, for

she didn't feel comfortable with its way of dealing with the reality.

A. criticize B. reprehend

C. denounce D. ridicule »

People came to realize that there was a great disparity between the amount of work
that they did and what they got paid for it.

A. disproportion B. inconsistency

C. divergence D. discrepancy

Lack of dream is capable to unsettle for a long time any person, especially if he has to
be engaged in heavy physical work.

A. discompose B. disorganize

C. disorder D. distract

The modern comic book is a linear descendant of Famous Funnies, and still packaged
in the same basic format.

A. lineal B. lineage

C. lineable D. lineate

People now begin to realize that depression and stress can likely trigger heart prob-
lems and make existing disease worse.

A. bring forward B. take on

C. give away D. touch off

If you are going to accomplish everything you need to do before going on vacation,
you can't procrastinate at all this week.

A. incriminate B. delay

C. disseminate D. proclaim

He was observant and thoughtful, and given to asking sagacious questions.

A. wise B. astute

C. ingenious D. artful

We have decided to implement the committee’s suggestions in full since we didn’'t have
better alternatives.

A. exercise B. enforce

D. utilize D. perform



Part J[ Cloze (10%) (10 minutes)

Directions: For each numbered blank in the following passage there are four choices

marked A, B, C, and D. Choose the correct answer and mark your answer on

the ANSWER SHEET .

Parents have long battled to persuade
their children to master new spellings and
learn their tables, but they may be wasting
that both
maths and reading ability lies largely in the

their time. A new study 51

genes.

Researchers at the Institute of Psychiatry
are trying to unravel how much genes, 52
environmental factors, affect a child’s aca-
demic prowess.

By analyzing the test results of 6, 000
twins, they were able to see clear genetic
factors emerging for both 53  skills and
reading ability. They compared test results
for seven-year-old identical twins, who share
the same DNA, with the results from non-i-
dentical twins, who only share 50 per cent of
their DNA, to assess how much was 54 to
genes.

Yulia Kovas, who led the investigation,
said: “Our work shows that there is a sub-
stantial genetic 55  between maths and
reading, but also between maths and general
intelligence.”

But they also discovered some genes
that appear to make it easier to master
maths, and these are linked to long-term
memory.

“Long-term memory, 56  working
memory and attention, is involved in both
maths and in reading”, said Kovas. “If your
ability to 57 mathematical facts and the
meaning of words from your long-term mem-

-8.

51.

52.

53.

55.

57.

e

o

>

>

. insinuates

. suggests

. but not

. other than

. numeral

. numerary

on

upon

. overlay

. overbreak

. and

. as well as

retrieve

. retread

. intimates

. hints

. rather than

. more than

. numerical

. numerable

. down
. off

. overfreight

. overlap

. in addition

. adding

. retract

. retrovert



ory relies on the same mechanism, then it

would make sense that they are linked.”

For years, there has beena 58 debate 58. A. vigilant B. vigorous
about whether the ability todo 59 is a spe- C. vociferant D. vicious
cific skill. Those who are good at maths also 59. A. divisions B. minuses
tend to have good musical skills and spatial C. times D. sums
60 , but scientists are not sure why. 60. A. alertness B. sense
/ Researchers now want to see if they can C. intelligence D. awareness

define the DNA markers more clearly. They
could then pick out children who are vulner-
able at the age of four, and see if giving
them extra educational help brings them up
to the level of their peers by the age of sev-

en.
Part [V Reading Comprehension (30%) (65 minutes)

Directions: In this part there are six passages . Following each passage are five questions.
There are four choices for each question. Choose the best answer and mark
your answer on the ANSWER SHEET .

Passage One

What is it about the stars that has intrigued humankind for thousands of years? Most
people who look up towards the sky in search of stars feel no particular compulsion to
learn about stellar life cycles or a star's absolute magnitude or spectral class. They look
skyward for the same reason that poets and songwriters have done so for centuries - to ab-
sorb the silent beauty of a starry night. Throughout history, stargazing has been mativa-
ted by more than admiration for celestial objects, however. As early as 3,000 B.C., the
ancient Babylonians studied the night sky and identified various constellations. Other ear-
ly civilizations created star maps and tracked the position of the stars for navigation and
timekeeping purposes, Their efforts were succeeded by advancements in science and tech-
nology that enabled modern society to understand more fully those twinkling lights in the
sky.

Although Galileo used a telescope in the early seventeenth century to make important
discoveries about our solar system, his instrument had limitations - chiefly, distortion of
the image. The first practical reflecting telescope was invented by Isaac Newton around
1670. By the close of the 1600s, there were a number of telescopic observatories. During
the next two centuries, hundreds of stars were observed and catalogued. In 1838,
Friedrich Bessel computed the distance of a star for the first time. Further studies and in-

e 9 .



novations helped astronomers to make detailed observations of the spectra, or white light,
of stars, which was key to determining a star's chemical composition. In 1849, the first
photos of stars were taken at an observatory in Boston.

In recent times, astronomers have learned a great deal about stars. From observation
of stars at different stages, astronomers have theorized that stars have existed for
hundreds of millions or billions of years. Stars are formed from dust and gas in space.
They are born in regions of space called nebulae. in which gravity prompts interstellar
matter to contract, generating heat. The result is the creation of a protostar. If a proto-
star's temperature rises high enough, nuclear fusion reactions at its core will transform it
into a true star. During this stage, a star is classified as a main-sequence star.

Everyone can readily identify the star that is indispensable to life on Earth—— the
Sun. But the Sun is too bright for direct observation. Hence, astronomers have devised
methods and instruments, such as the spectrometer, to study it. Fortunately, the Sun is
the exception, gazing directly at other stars is not a problem. Nonetheless, people who
live in highly populated areas, such as cities, do not see the same night sky that ancient
civilizations enjoyed. Modern technology has a price. The electric lights that allow us to
see at night obscure most of the 6,000 stars that would otherwise be visible from Earth
with the unaided eye.

61. This passage serves primarily to

A. acknowledge scientific achievements in astronomy

B. discuss the nature and the study of stars

C. compare different reasons for stargazing

D. describe how stars are created
62. In the first paragraph, the reference to poets and songwriters is most likely meant to

show that

A. stargazing has been a source of artistic inspiration

B. it takes a creative mind to truly appreciate the stars

C. gazing at stars is a long-established custom

D. not only astronomers observe the stars
63. The second paragraph most closely supports the idea that

A. nineteenth-century astronomers made the most significant discoveries

B. the rate of scientific discoveries has decreased in recent years

C. astronomy owes a great deal to technological innovation

D. photography revolutionized astronomical research
64. Based on the passage, astronomers would best be described as

A. too concerned with scientific details to enjoy gazing at stars

B. inquisitive and innovative

C. excessively reliant on technology

D. reluctant to accept new scientific theories

¢ 10



